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QI3 S Akt 5,686,699 2,045,005 3,641,694
= 254,539
< 10,000
s 5,422,160
QIR M A Sl 167,402 181,750 A 14,348
= 10,000
[ia 157,402
SEXQ IAHH 158,982 172,790 A 13,808
= 10,000
[ia 148,982
QI3 Al 2H 123,875 138,938 A 15,063
101 @14l 25,158 24,163 995
04 D12t Z22HEE = 25,158 24,163 995
Ool@etf =<0l 25,158
—Jles 68,7203 x 12 x252 17,318
— T4 68,7203 x 1 52 3,574
—Qx=g 68,7203 x 1P 12 825
- B8z 21,717 ,000& »1H % 14% 3,041
— I =l 400,000& x1H 400
201 LBH2Z| 55,377 50,775 4,602
01 At 2t 2l 39,537 35,147 4,390
O=gtl 4,000
—QIRAHIFA A 8,000& x5 100 4,000
Oz 4+ 2,240
—QXE 33 70,0003 x5H +43| 1,400
—JE23M 423 70,0003 *3H x43] 840
Od==2 MEIJNE BMAHMHA 018 =2
200& x9,000AH 1,800
Oolgag AEIE L) dXs
13,000& 120 x12& 1,872
OBIEANSE &2 A NHEaz 1,000,000 1,000
OoYAaHE M= 90,000& 50 4,500
ORUALSERXN ¢ 51,0003 »25%+ A 1,275
OEXCIASR CHLHMIE MZ 25,0008 50 1,250
OIS H daEH 225 2L
300,000 *5CH *33] 4,500
OQUAZ 2RI Il=Hl 400,000 x18H 13| 7,200
QUAAHSE B2 ()7L 300,000& »12& 3,600
OF2D| dXUE(UBSAY, URAANEZ)
60,0003 123 «3CH 2,160
O3JI&8FI gtz 60,0003 »12& »30H 2,160
Oolte Olstlas 249 1,430
—ANREFFY 50,000& 113l 550
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SN RAZAD
Mo ale A =
chelr BENO JAHE (B9 ®R)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
- 2S 300,000& x2H 600
- 38 200,000 »2H 400
OESRA 2H2E &4 3,700
-1 1,000,000& x1H 1,000
-2 500,000& *1H 500
—3s 300,000& x24 600
— EOLXH 100,000& *16H 1,600
OBESTS 2 & L4 200,000& x5 13| 1,000
405 XtabF SHI 8,400 42,000 A 33,600
01 AL 2B F SHI 8,400 42,000 A 33,600
Oololsg BFI|) ¢ 700,000& = 12CH 8,400
AR H&EEH X3 26,347 27,092 NT45
= 10,000
= 16,347
101 @121l 25,158 24,163 995
= 10,000
= 15,158
04 JI2ZtH2E2XNEE > 25,158 24,163 995
O=2HEXAY 25,158
—HHALZEREXL 25,158
cJ23 68,7203 1 %252 17,318
= 10,000
= 7,318
=Y 68,720 1 52 3,574
A X 68,720 x 1P x 12 825
B8 E 21,717 ,000& *14% 3,041
Il =t 400,000& x1H *13] 400
201 et A H| 1,189 1,189 0
01 AF2 2t 2l Yl 1,189 1,189 0
O=2HIEX ALY 1,189
— 02t AL R E20HAHI
8,000& »2H x45 720
—ALSER =2H| 469,000& 469
nHExs=E 2el 8,760 6,760 2,000
201 LEt2 Y| 7,960 5,960 2,000
01 At 22l Yl 7,960 5,960 2,000
ONsxs=Ead MY HE
1,000& 105 *5000H 5,000
OXNSXHESES HOA M 2,000&*1,000& 2,000
ONSXEEYR &I 8,000 x2H 60! 960
301 dEtE X = 800 800 0
12 JIEtE A 2 800 800 0




SN QIS AD
Mo ale A =
Colr R0 LA (ctel:&2)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
OFLAM ANAsHsH HAHE I
40,000 *20CH 800
OI3A st3xH 8,420 8,960 AN 540
O34 SARSINE 8,420 8,960 AN 540
201 et 9| 6,920 5,360 1,560
01 AP 2t 2| H| 6,920 5,360 1,560
Oolga S#AHARA B 6,920
— =3 2 L A g2
170,000& 128 *13] 2,040
—0I2AA HOIE2 E20LE
60,000& 128 x43| 2,880
— 0IRA SHAAMY ARE 22 2,000,000 2,000
405 KHoHFE S HI 1,500 3,600 A2,100
01 AL S B F S| 1,500 3,600 A2,100
ORMEEH A 1,000,000 = 1CH 1,000
OMdJI2el+=HE 500,000 =1 CH 500
28 & M0l 22 1,425,910 840,918 584,992
zs € Jlst 249 1,425,910 790,468 635,442
lzs 22l 1,413,510 777,568 635,942
201 Bt 4d9 ]| 391,060 250,932 140,128
02 =224 H| 391,060 250,932 140,128
OJl2E A 28 22 149,500
~SEJI2S LD ¥E 7Y
70,000 *1,50004 105,000
—AJXNIIES A 2
130, 000 = 1004 13,000
—JI2E AQ BE RYU(FEA 2 38)
70,000 *4= +100H 28,000
—JIZ2s E& 2 7,000 x500S 3,500
OJ2(Bohs &2 231,960
—-s&EJzSs dIIR=2
1,600 x3,900= ~12& 74,880
—AJNXNS IR 7,700 *1,700S *12& 157,080
OJRE SANESXE SR
500,000& x12& 6,000
OEZ2 XY AZAIAE X 22
300,000& x12& 3,600
401 Al HI L 204 HI 1,022,450 342,136 680,314
01 Al&H| 1,016,400 339,700 676,700
OJtzs |A&el 410,300
—sZEJ2S A2 17,0002 *3,90004 & 66,300
— ANJXRIIIZEE S X 22l
40,000 «1,70000 & 68,000
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¥ Jl2S U Mo B
S9l: RS U IISH 2% CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
—Jt28 & .01 1,200,000 * 19004 £ 228,000
— 278 el 900, 000& *30H 2 27,000
—2dYy2(s52) H2s ¢4
700,000 *300H 2 21,000
Ootzs |RANE> EH 56,100,000 » 14! 56,100
OJlI25 LEDEZ WX At
100, 0002 5004 2~ 50,000
OAIJHAI Jt25 2 M A
500,000,000 14l 500,000
03 A& =TI 6,050 2,436 3,614
Ootzs gAzel 960,300,000& *0.63% 6,050
120218 JIsth 29 12,400 12,900 A 500
201 Let24d] 6,400 6,900 A 500
01 At 22/l 6,400 6,900 A 500
O12081 & JIsll EE2ZE=
150,000 »3H »23] 900
Oglzg(sY) dd sx2cl
500,000 * 110 & 5,500
202 44l 6,000 6,000 0
01 S LHOIYI 6,000 6,000 0
O12081& D=t obl 20,0003 *3H 100 6,000
S8 EX gzl 4,015,597 940,227 3,075,370
= 244,539
< 10,000
s 3,761,058
2tk K& 22| 3,771,965 755,513 3,016,452
= 244,539
s 3,527,426
ARAH 2L 8,530 8,530 0
201 Let24dH] 5,090 5,090 0
01 At 22/l 5,090 5,090 0
OEXOIsS MEM 2 45 M
2003 *1,50000 x5 1,500
OEXOlsS Z2AM 2 5838 =HIX 2¢
2,700& x1000H 55 1,350
OXNE=s=Z2nE Hteld 22 70,0003 «20H 1,400
OZREXNSHANS FH 45
70,0003 x6H 23] 840
202 O4dl 3,440 3,440 0
01 = LH 4 Hi 3,440 3,440 0
ONX22d A3a L MOIL &4
60,0003 x6H 43 1,440
OXNHE&u & JI=HZ AL Eet0l
20,0003 »2H 50 2,000
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2AM: QIS AL
= 0|

M X0 EX Sgad
ool es XEBE CER-ED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
NE=2 J&E EdlAE 13,133 13,133 0
201 £B-2d| 13,133 13,133 0
01 At 22l 13,133 13,133 0
OXNE=2ZINE=E HUIMG (S22 S) 13,133
— X & &2 & (GNSS) 110,500& *50& 5,525
— X & AH 25 X & (GNSS) 632,800& x10& 6,328
— =&l 8,000 »2H x802 1,280
HEBAIXIIL A 233,664 225,491 8,173
= 64,665
s 168,999
101 @14l 78,734 70,631 8,103
= 19,800
[ia 58,934
04 JI2ZtHZ22HEE =+ 78,734 70,631 8,103
O=HIEXZ ALY 78,734
—HESAIXI =2 78,734
JlEs 68,7203 x3H x264 54,427
= 13,303
s 41,124
FEY 68,7203 x3H 602! 12,370
= 3,367
[ia 9,003
RSP RS 68,7203 x3F « 11 2,268
= 701
s 1,567
AEE = 69,064,000 *14% 9,669
= 2,429
[ia 7,240
201 et 144,930 144,860 70
= 40,850
s 104,080
01 At 22l 144,930 144,860 70
O=HIEXZ ALY 144,930
— HESAIXIIL A 9,550
- KJtEE S A 8,000& x1,0000H 8,000
S Xot2E X FU(SHEZAME 2 58)
55,0003 102 A 550
D2E E 8 HREE & 425 WA
250,000& *4H 1,000
— S0 2 zra 3,900
HESAKIIEA EE S
60,0003 1201 x4 3] 2,880
- HE S AL dolg Y
60,000 » 101 43 240




2A: A2 AL
HM: M0l EX &2
ol eis XXBL CER-ED
_ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
HEZAIXIIEA EE I 2HE
15,000 13 4 3] 780
—dser= 114,600
MFION ABES4E
(7002 *140,000E Xl )+(6,0002 *2,400E! X 112,400
)
2 37,330
= 75,070
SIANMEXN I ESEE2
7,0002 100 X| 700
OIGMETII BE44R
15,0002 * 1002 X| 1,500
~SSMNATAAAS BA 2
70,000 x12H x4 3| 3,360
—HLRYS MF LB44E
5,000,000& x23| 10,000
— EZ2044H| 8,000& x4H x110L 3,520
= 3,520
202 044 10,000 10,000 0
2 4,015
= 5,985
01 22Ul 10,000 10,000 0
OZHIBEXZAY 10,000
— JHE Z Al K JFE AF 20,000& x5H 100 10,000
=2 4,015
= 5,985
MOl ZU2|AFS 27,608 26,613 995
101 Q121 H] 25,158 24,163 995
2IAHXZ2Z2RE 25,158 24,163 995
OXNE H&sY ¢= 25,158
—-Jl2= 68,7203 1™ »252 17,318
— =554 68,720& x 12 52 3,574
— X E 68,720 x 1«12 825
—BE2 21,717,000 *1&H «14% 3,041
— I = 400,000 14 400
201 et | 2,450 2,450 0
01 AFR 2t 2| bl 2,450 2,450 0
OXEABOIS 2e| 2,450
—ANRESE 2L 2,450,000& 2,450
SEMEHTRAALKRAS) SRS 109,086 29,086 80,000
201 et | 109,086 29,086 80,000
01 AP 2t 2] H| 80,000 0 80,000
OBESHEEZ2AAH A2S/W 22
80,000,000 x1A! 80,000
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X ZH -
L= B

el

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
02 =224l 29,086 29,086 0
ORSMBE IR AMAE(KRAS)R X E 5 29,086
—otERAN 300,000,000 *8% 24,000
— AT EY O 5,086
- GISA & (ArcSDE) 2l 25
42,383,000 x12% 5,086
34 2el 1,280 1,280 0
201 L2l 1,280 1,280 0
01 At 2t 2l 1,280 1,280 0
Ofsd SHIA 22, N S|
8,000& »2H x80 1,280
NEHEAL ALS 3,186,640 346,980 2,839,660
201 Let24] 44,240 22,480 21,760
01 At 22l 39,680 20,020 19,660
ONEMEASIANE BH2Y
70,0003 *3H 62 1,260
OZHZEAZE #A&==Y 70,000 «6F 63! 2,520
O= &l 8,000& x3E 100! 2,400
ORAEZI H#BEY S|
10,000, 000& *3H X = 30,000
OxFQ&Hs H&E M= 250,000 *4H 1,000
OGNSS =0 d=dAt 500,000& x13] 500
OXNETHEZAL E28 =2 M= 50,0003 2004 1,000
OXAETHZAL 23 AIRESFE 1,000,000& 1,000
02 =24l 4,560 2,460 2,100
OOIoIH D121 Sdl=z 30,000& »12& 360
OMZALEXNN 2BLESZ 2,100& *2,000S 4,200
202 4 Hl 3,000 3,000 0
01 = LH A HI 3,000 3,000 0
OXNEHEAMSER =& 20,0003 »3H 502 3,000
401 Al HIZ 201 I 3,139,400 321,500 2,817,900
01 A& HI 3,139,400 321,500 2,817,900
Ox¥= ZEEIMN =8
44,0003 +450E K| +23] 39,600
OXNEBME=A =ZFS XS
1,000,000& *3,099.8m" 3,099,800
KN ETHEALALY =& 179,874 69,000 110,874
= 179,874
201 £B-2dH| 179,874 69,000 110,874
=2 179,874
01 At 22l 179,874 69,000 110,874
OZ3HIE= AL 179,874
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M X0 EX Sgad
ool es XEBE CER-ED
5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
— XA EZA S| 179,874,000& 179,874
= 179,874
NIHI S XA 2 AL (XEA) 12,150 35,400 223,250
201 L2l 12,150 15,400 A 3,250
01 At 22l 12,150 15,400 A 3,250
ONMIH = XIH B &AL 12,150
— 3588 =Eg+=82 81,000& x150& 12,150
NHBE HLsHAY 62,404 44,776 17,628
NEIZE2 Hots AIAEH A5 20,420 20,420 0
201 ¢er24l 7,920 7,920 0
02 =224l 7,920 7,920 0
ONHFNSHSE B2 ALY RX2
144,000,000& *1. 1x5% 7,920
207 & O & Hl 12,500 12,500 0
02 & AR I 12,500 12,500 0
OXNBISRHLSIAAE RS 12,500
—EXosZ2N 500& =7,0000H 3,500
== == g e 6,000& =1,5000H 9,000
=HBAEE SEHAHA 2= 41,984 24,356 17,628
201 ¢er24] 41,984 24,356 17,628
02 =224l 41,984 24,356 17,628
OINSAFEANLEY RRNES 41,984
—otERAN 123,064, 300& *8% 9,846
—2ZE9A 214,250,700 »15% 32,138
CRHIUEHSES 181,228 139,938 41,290
< 10,000
e 171,228
C2HYASHSEHEAND(ZHI) 10,000 10,000 0
< 10,000
401 A& HIZ 201 I 10,000 10,000 0
< 10,000
01 A& HI 10,000 10,000 0
OZHIEx= AL 10,000
C2HE &X 10,000, 000& 10,000
< 10,000
EREFAAY 171,228 129,938 41,290
101 1A dl 6,268 6,093 175
04 JIZHHZ2Z2XNHEE S 6,268 6,093 175
OINF=LFZFEANAE JI=Xtg FHl 6,268
—Jlzs 68,7203 x 1«80 5,498




SN DRZAD
= 0l

M. gE8H EX g
el CRYUASHSEE (sl &2)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
—B28a 5,497 ,600& * 1Y x14% 770
201 LEt2AY| 21,760 21,760 0
01 AFR2t2l bl 11,320 11,320 0
OE2Y¥zA EEBE2 M 6,560
—EB=ZZ H&E 2,000& *2,500H 5,000
— 39 60,0003 *13H A 23] 1,560
OE2HFAHNSHS T HiEE 25 2,000
— '~2 '3 (450%350) 1,500& *1,0000H 1,500
— '~2'2(330%240) 500& =1, 0000H 500
OS2YFA99s B4 49
70,000& x6H x23] 840
OE2HFAAE 24| 8,000 *3H 80 1,920
02 332494l 10,440 10,440 0
OdIolE 212 sal&g 40,000 *3CHx12& 1,440
OE2YHFA (M NS HISAIAE)HHE S
8 9,000
— 23 8% 08, 28,5, 3,22 ,M5t,
A A 1,000,000& *90H A 9,000
202 (4] 4,800 4,800 0
01 2L Y] 4,800 4,800 0
OE2HFAAY SEEXZAF 20,0003 *3H *80! 4,800
206 M = Hl 1,000 1,000 0
01 M= bl 1,000 1,000 0
OHEHso = IHEH| 10,000& 1004 1,000
401 Al HIL 200 114,400 76,850 37,550
01 A& HI 114,400 76,850 37,550
Oxzdo 204.&X 500,000& =554 27,500
OH=sHsE 20H. X 10,000& 5004 5,000
OEZHFEA CHUHAAE SRANES: 9
11,000& %2, 1004 23,100
OHAEHS T Max=X AL A 1,400&*12,000H 16,800
Ofz=s ASHSE Hb| 10,000& *3,500H 35,000
Oaal | 3l& otUAIE THE X 500,000 *140H 7,000
403 ItXISHHSA201 A 23,000 19,435 3,565
02 3I2SH St 2 2 AL B 23,000 19,435 3,565
O2INFAHEBAAE (KAIS) SXES 18,000
—GIS AA S/W RXE = 3,000,000 3,000
—KAIS 29X & 15,000, 000& 15,000
OE2YFAJ|I2 ddaAg 5,000
—C2YEFAI|2T G 5,000,000 5,000
HHSAHH (AR EAD) 77,790 82,110 £ 4,320




AN UASAHD
M HE2ILH (LI SAY
¢l =gl (chel & 9l)
5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
Jl= &l 77,790 82,110 A 4,320
Jl=dl 77,790 82,110 24,320
201 Let24d] 41,790 41,790 0
01 At 22/l 41,790 41,790 0
ORNEA 1,831,000& »18H 32,958
Oz &l 3,600
— E20aldl 8,0003 x18H 25 3,600
OSAMII Xt 5,232
—Z =AM 286,000 x1CH+12& 3,432
— SHEAD] 150,000 x 1« 12& 1,800
202 odl 32,400 36,720 AN 4,320
01 = LH o4 1l 32,400 36,720 A 4,320
O2 ol 100,000& = 18H »12& 21,600
O&2| o Hl 75,0003 x 18«8 10,800
203 YR =& 3,600 3,600 0
04 FN2EHRF 3,600 3,600 0
ORN2IELR 300,000& »12& 3,600




